
N = 962
962 circles in a circle

radius =   0.030016603660
ratio  =  33.314895026749

density  = 0.866758628474
contacts = 1317

 E.SPECHT
06-MAY-2010

N = 963
963 circles in a circle

radius =   0.030003259399
ratio  =  33.329712172198

density  = 0.866888338311
contacts = 1163

 E.SPECHT
06-MAY-2010

N = 964
964 circles in a circle

radius =   0.030012036438
ratio  =  33.319964876953

density  = 0.868296327234
contacts = 2396

 E.SPECHT
09-MAR-2023

N = 965
965 circles in a circle

radius =   0.029978267582
ratio  =  33.357497969146

density  = 0.867242148791
contacts = 1360

 E.SPECHT
06-MAY-2010

N = 966
966 circles in a circle

radius =   0.029963670375
ratio  =  33.373748525935

density  = 0.867295609886
contacts = 1522
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06-MAY-2010

N = 967
967 circles in a circle

radius =   0.029941810491
ratio  =  33.398113995090

density  = 0.866927118972
contacts = 1221
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N = 968
968 circles in a circle

radius =   0.029931180286
ratio  =  33.409975498982

density  = 0.867207535588
contacts = 1214
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N = 969
969 circles in a circle

radius =   0.029920721567
ratio  =  33.421653878119

density  = 0.867496842145
contacts = 991
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06-MAY-2010

N = 970
970 circles in a circle

radius =   0.029919904273
ratio  =  33.422566826272

density  = 0.868344651554
contacts = 2158

 E.SPECHT
09-MAR-2023

N = 971
971 circles in a circle

radius =   0.029893574492
ratio  =  33.452004886923

density  = 0.867710647838
contacts = 1072
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N = 972
972 circles in a circle

radius =   0.029879476885
ratio  =  33.467788069416

density  = 0.867785211010
contacts = 1302
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N = 973
973 circles in a circle

radius =   0.029861220015
ratio  =  33.488249961215

density  = 0.867616764327
contacts = 1337
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